teach-learn correct to nearest (2) timelypractice.com

1. (a) Count on from 57 and stop at 60.

(b) Complete (i) 50+ =57 (ii) 57+ =60
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2. (a) Count on from 34 and stop at 40.

| N N N N [ |
30 31 32 33 34

(b) Complete (i) 30+ =34 (i) 34 + =40
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3. (a) Count on from 43 and stop at 50.

(b) Complete (i) 40+ =43 (i) 43+ =50
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4. (a) Count on from 22 and stop at 30.

| l l l l [ |
20 21 22

(b) Complete (i) 20+ =22 (ii) 22+ =30
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Answers

a) b8 to 60 (b

a) 35 to 40 (b

(a) (
(a) (
(a) 44 to 50 (
(a) (

a) 23 to 30
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